1.

x+y+z=3, xy+yz+zx=-1<4 0 x2 +y2 472 9] gr-& Fo}H?

@ @ 12 ® 13 @14 O

4y +22 = (x+y+2)7?%-2(xy+ yz+ x2)
=94+2=11




OlAPA A 222 — 2x +3 = 0] FF & F5hE?

-1+ V5i

@ -1+ Vbi @ 1++5 ® 5

1+ 5 1+ V5i
o o,

2x%2 - 2x+3 =0°lA

_1£V12-2x3 1+ V5i
£ 2 T2




@ y=-x>+x+3

(@)y =-3(x+2)*+3

O y=2(x-1)>%+3

®y=-

x-3)2+1

~—

® y=—%(x+3)2—3




O34 fx) = x° +ax® +3& G4 x - 12 o] oA RS 4
o] g AshA?

© -2 (@)—4 ® -6 @ -8 ® -10

f)y=14+a+3=0,a=-4




@ a-b+c @ c—a ® b+c

a® — b2c — ab? + a?c = a® — ab?® + a?c - b%¢
=a(a® - b*) + (a®> - b*)c
=(a-b)(a+b)(a+c)




Al 7He] A 3 +ax+ b, x3 +cx® +a, ex* +bx+4, 9 F

Sttt x— 19 W, a+ b+ c & FA2?

f)=x*+ax+b—> f1)=1+a+b=0--Q
g)=x*+ex®+a—- gl)=1+c+a=0--©
h(x) =cx® +bx+4— h(l)=c+b+4=0--©
O+O+©ONAH 2(a+b+c)+6=0
a+b+c=-3




o
4>
i
=

I
>
1o,
il
o
~

)
sk

O‘I 180" = A
A &= 47} Sltk

o HAgE FohA?

judiuiel}

D 11
@
21 ® 25 @81
® 100

B

H ] ]. T 1 = X 1
( 8 ] _Z'\__ ] O/J\E]- |_ = 2
oro ) O] | .9 _1'\_.__ E _’_[:Dq ]4_]]1
y = x(18 - x) I — ]
}\( ) X 8x (X 18x 81) 81
u:l = 1 = A l 31 0] Z (e}
__'_O =] ‘:/E%;'\-_" 8]. O]]:]’

ok
ol
rr




8.  APAIAEA x4 263 4 2x% - 2x -3 =09 RE F2] FFL?

D -2+2i @ +2i @—2
@ -1 ® 1

B

(F)=(x-Dx+1)(x2+2x+3)=0
AT L1+ (1) = 0
5o 2 -2

< o g2 -2

|




9. oWt -2 <x<3ul, T f(x) =22+ 20+ C O] Haglol4
7} HEE A C 9] ZHe AT o, 4 f(x) o Hghe?

® 8 @ 12 @16 @ o=

B

f() = e+ 12 +C-1

Zo]z] HSlel A x = -1 L 1

Hazke B

f(-1)=C-1=4 = C=5

= f(x):(x+1)2+4

Fo1 7 oA x =3 4 wf HoighS 7Hdch
= f(8)=4*+4=20




18 1

@x:g,y —gEE—x:Zy:E}
1 1

@ x= 8,y —gi‘::_%x:—2,y——3
1 1

® x——?,y:—g TEx=-2y=-3

+y=7---Q
P+Y?=3.--0O

y=-2x+75 O A

¥+ (2x-72=13

5x% —28x + 36 = (5x — 18)(x—2) =0
181

T YT

x=2,y=3




11, xo] T 7 R oA 22— pr—q = 0, x2— gr—p = 0°] &7
shite] 352 2kt ol w, p, ¢ WAS e 2oL

® @
aA q
1._ - -
s NG
/10 1 p
®
qA
}L@
o N\p

2-px-qg=0 ---O
Z-gx-p=0 @

O-@lA (-p+g)x—(-p+q) =0
S (=p+g(x-1)=0
A7|M —p+g=00°" Z ¢

®©, @7} 27 =of Foi7 BAS] 7o o]t
o x= 19|t}

ol Dl 1-p-g=0

wetA] fLot= AL g = —p+ 1(H, p £ q)




12, HAA 242 +4y? +4xy +2x+ 1 = 02 WA 7| = A4 x, y ol tiste]
x+y°| g& F5HH?
1

3
O-5 @1 Qe 1 977

—_
—_

2x% + 4y? + dxy + 2x + 1 = 09| A]

¥ +dxy+ 4%+ 12 +2x+1=0,
(x+2y)* + (x+1)* =0

x,y7t ASO|BR x 42y =0 - D, x+1=0--- @)
1

©, @M x=-1, y=3

o x+ __1

. y= 5

Fo1 A4S x of tiste] A= 2x+-2(2y+1)+(4y*+1) =

D
x 7t AdolB2 7= @+ 1)2-2(4*+1)20

~ (2y-1)2<0

A9 2y -1 0] AFo|BEE 2y-1=0
L = e ®

@F @ef st

2x2 +4x4+2=0, (x+1)2=0

@, @A x—l—y:—%




xof| TS o)A 4] (1 —i)x% + (34 2ai)x + (2a + 3i) = 00] A
271 gt A4 a9 k2 oY
O @-1  ®2 ®-2 O3

a(l-i)x® + 3+ 2ai)x + (2a+ 3i) =0 Q) AT 2AL &
A% oA Aol B BEAL £ % fet. 2o| At
AL 17k A5 e EARE Baso] 4ERA

(ax® + 3x + 2a) + (—ax® + 2ax + 3)i = 0 ©]°jof stE=2
ax> +3x+2a=0----- @)

—ax?’ +2ax+3=0----- ©

O+0 34
(2a+3)x+(2a+3)=0,(2a+3)(x+1)=0
20+3=0F=x+1=0

3
a:—gE—Ex:—l
0 _ 301
)a=-3 A o
3
@’5}01]/\'1—§x2+3x—3:0, X2 -2x4+2=0

o|BZ 2L ALY - a2 -g

i) x = -1 4 o Gofl HYstH,
a-3+2a=0,3a=3 .. a=1




14. 94 {14 (a+ b)) 2 - 21 —a-b)x +2 = 02] 0] 459 1
0 + b7~ 3ab 9] HS I 7 (R, a, b %)

@1 @—1 ® 2 @ -2 ®0

B ~

g:(1—a—b)2—{1+(a+b)2}-220
—(a+b)?-2(a+b)-120
oF

Hol| -12 FstH
(a+b)2+2(a+b)+1<0

{(la+b)+1}2<0

JA9 a, b7F AFOIBER a+b+1=0
Ta+b=-1

o a®+b® - 3ab = (a+ b)® - 3ab(a + b) — 3ab
= (-1)% - 3ab(-1) — 3ab
=-1




N
4>
N
i)
ru
.y
>
lo
]

o] H= 00] ohd A%2] %A% (a, b, c) ]

=
<
rr

N

@® 174 @ 271 ® 371 @4711 ® 57

B ~
a=bc, b= ca, c=ab,
abc = (bc)(ca)(ab) = (abc)?,
abc #0, abc =1,
abc=a®>=b>=c*=1
a==1, b==1, ¢c = +1
dHY abc = 1 °|E2, q, b, ¢ A -1% A2 gAY 2
7Re]ct.
~ (a, b, ¢) = (1,1,1), (1,-1,-1), (-1,1,-1), (-1,-1,1)




